INSTALLATION

[ Relocator for Tour-Pak® 8957 ]

CUSTOMER SERVICE

THANK YOU FOR CHOOSING KURYAKYN! 877.370.3604 (toll free)
INSTALLATION QUESTIONS
PROTECT YOURSELF AND OTHERS FROM POSSIBLE INJURY AND/OR PROPERTY techsupport@kuryakyn.com
DAMAGE OR LOSS. PAY CLOSE ATTENTION TO ALL INSTRUCTIONS, WARNINGS, orcall s ans 2583
CAUTIONS, AND NOTICES REGARDING THE INSTALLATION, USE, AND CARE OF LIMITED WARRANTY
THIS PRODUCT. Kijryakylr:j \:]/arrantds thathalr}beL';ryakyfndp;odtucts
SO ereunaer, sha e free O erects in
materials and workmanship for a period of one
(1) year from the date of purchase by the
ting the foll :
_ THIS INDICATION ALERTS YOU TO THE FACT THAT . Kvk:huhpg mgtwgptht
IGNORING THE CONTENTS DESCRIBED HEREIN CAN the customer is unable to provide a receipt
RESULT IN POTENTIAL DEATH OR SERIOUS INJURY. showing the date the customer purcioned 1
CAUTION This indication alerts you to the fact that ignoring e e e e
A the contents described herein can result in minor or normal conditions.
moderate pOtential injury_ eKiiryakyn makes no warranty, expressed or
implied, with respect to any gold Zlated
products.

This indication alerts you to the fact that ignoring the _
NOTICE contents described herein may negatively affect product eKdryakyn shall not be liable for any
. . . consequential and incidental damages, including
performance and functionality or damage the product itself labor and paint, resulting from failure of a
or the product to which it is being attached. Kiiryakyn product, failure to deliver, delay in
delivery, delivery in nonconforming condition, or

for any breech of contract or duty between
Kiryakyn and a customer.

MAKE SURE THE FOLLOWING PARTS HAVE BEEN INCLUDED IN THE KIT: eKiiryakyn products are often intended for use in

specific applications. Kiryakyn makes no
) warranty if a Kiiryakyn product is used in
1 nght Hand Relocator Block applications other than intended.

1 Left Hand Relocator Block )
N - . eKiryakyn electrical products are warranted for
1 Hardware Kit containing: one (1) year from the date of purchase by the
4 1/4"-20 X 7/8” Hex Head Cap Screws consumer. L.E.D.’S contained in components of
8 1/4;/ Split Lock Washers K_uryakyn_products will be vva_rranted for defects
” in materials and workmanship for 3 years from
8 1/4" Flat Washers the date of purchase where as all other
4 Cable Ties components shall be warranted for one(1) year.
1 Installation Instructions This includes, but is not limited to; control

modules, wiring, chrome & other components.

eKiiryakyn makes no warranty of any kind in
regard to other manufacturerts products

TOOLS SUGGESTED distributed by Kiiryakyn. Kiryakyn will pass on

. . . all warranties made by the manufacturer and
Socket set and ratchet, combination wrenches, set of hex wrenches, set of hex sockets, in./Ibs. torque | ,1crc possible, wil expeg,te the claim on behalf

wrench of the customer, but ultimately, responsibility for
disposition of the warranty claim lies
- - . - . . . . with the manufacturer.

NOTICE This copy of installation instructions contains important infor-
mation. Ensure that the end user receives this copy and is ABOUT OUR CATALOG

For purchasing Kiryakyn® products, you

can receive a complete catalog free of charge.
Send the Proof-of-Purchase below with

your address to: Kiryakyn, P.O. Box 339,
Somerset, WI 54025.

Please indicate either Accessories Catalog for

aware of its importance for future reference.

STEP 1 Read and understand all steps in the instructions before starting the installation. Harley-Davidson® or GL & Metric Cruisers.
Park the motorcycle on a hard, level surface and turn off the ignition. Be sure to ask your local dealer about other
Kuryakyn® products, the motorcycle parts and
accessories designed for riders by riders.
©2005 Kiryakyn USA® All Rights
STEP 2 Unhook the CB cable (if equipped) located under the clutch-side (left) passenger reserved.
armrest.

NOT"CE Avoid damage to the motorcycle. Protect painted surfaces with
a soft cloth or blanket.

8957-21HD-1013

-cont.-



STEP 3

STEP 4

NOTICE ‘ Assistance is highly recommended to secure the
Tour-Pak as the mounting screws are being re-

STEP 5

STEP 6

STEP 7

STEP 8

STEP 9

STEP 10

STEP 11

STEP 12

NOT’CE Ensure that the ground strap (PIC 2) is reattached
to the floor of the Tour-Pak during reinstallation.

Open the Tour-Pak. Refer to PIC 1. Remove the two acorn nuts located inside the document pouch
in the Tour-Pak. Remove the pouch.

Kiryakyn

Remove the trunk liner and set it aside.

moved.

Remove the four screws securing the Tour-Pak to the mount. PIC 2 Set
the screws aside for now; they will be reused later. Note the location of
the ground strap; it will be re-installed later. PIC 2

Carefully move the Tour-Pak out of the way. Have someone secure the
Tour-Pak while the Relocator Blocks are being installed.

Refer to FIG 1. Determine the Right-and Left-Hand Relocator Blocks.
The countersunk holes are offset to ensure that they are installed on the
correct side. The beveled edges face the front of the motorcycle.

Attach the clutch-side (left) Relocator Block to the OEM mount with two
of the included 1/4”-20 Screws, Lock Washers and Flat Washers. PIC 3
Insert the screws though the countersunk holes. Leave the first screw
loose until the other has been installed, then Torque the screws to 96

to 100 in./lIbs. REMOVE THE FOUR SCREWS

FROM THE TOUR-PAK
1

Repeat STEP 8 for the brake-side (right). PIC 4

FIG 1

The Relocator allows for three different mounting positions over
a range of about three inches.

Refer to FIG 1. Determine which of the three mounting positions
will work best for you.

Add an included Lock Washer and Flat Washer to each screw

(removed in STEP 5) and set them within arms reach of the
work area.

Carefully position the Tour-Pak over the Relocator Blocks. Align || spaxe-sioe (righ) | FRONT OF MOTORCYCLE ‘
the holes in the Tour-Pak with the threaded holes in the Blocks.

Attach the Tour-Pak to the Blocks with the screws from STEP 11.
Leave the screws loose until all have been started in their threaded
holes, then torque the screws to 96 to 100 in./lbs.

CLUTCH-SIDE (LEFT)

STEP 13 Reinstall the Tour-Pak liner.
STEP 14 Reinstall the document pouch
and acorn nuts. Reinstall the
. THE 1/4” SCREWS GO
CB cable (if removed). IN THE COUNTERSUNK
HOLES
STEP 15 Ensure the Tour-Pak is secure 7 pr
before riding the motorcycle. CLUTCH-SIDE (LEFT) RELOCATOR BLOCK SHOWN
e 4
NOT’CE It is the end user’s responsibility to ensure that all of the fasteners
(including pre-assembled) are tightened before operation of the motorcy-
cle. Kiiryakyn will not provide warranty coverage on products or compo- PAGE
nents lost due to improper installation or lack of maintenance. Periodic in-
spection and maintenance are required on all fasteners. 2

[Relocator for Tour-Pak® INSTALLATION}




